Reg. No.:

D 1691

Q.P. Code: [D 07 APS 01]

(For the candidates admitted from 2007 onwards)

M.Sc. DEGREE EXAMINATION, DECEMBER 2010.

First Year

Applied Psychology

ADVANCED GENERAL PSYCHOLOGY

Time: Three hours Maximum: 100 marks

Answer any FIVE questions.

 $(5 \times 20 = 100)$

All questions carry equal marks.

- Explain the different types of psychological research.
- Describe the nature and function; of the endocrine system.
- Explain the functions of visual and auditory systems.
- Explain the nature of memory and its coding system.

- Explain the basic concepts of classical conditioning.
- 6. Explain any two theories on intelligence.
 - Describe the biological and non-biological factors in emotion.
- Define personality and explain the salient features of assessment of personality.

D1692

Q.P. Code: [D 07 APS 02]

(For the candidates admitted from 2007 onwards)

M.Sc. DEGREE EXAMINATION, DECEMBER 2010.

First Year

Applied Psychology

LIFE SPAN PSYCHOLOGY

Time: Three hours Maximum: 100 marks

Answer any FIVE questions.

All questions carry equal marks.

 $(5 \times 20 = 100 \text{ marks})$

- Explain the methods of studying hunan development.
- 2. Discuss in detail the stages of prenatal development.
- 3. Explain piaget's cognitive development theory.
- Describe the Erikson's theory of infant & toddlerhood personality.

- Explain the characteristics and developmental tasks of early childhood.
- 6. Explain the physical development in adolescence.
- Explain the sexuality and reproductive functioning in early adulthood.
- Describe the singlehood and loss of spouse at old age.

D 1693

Q.P. Code: [D 07 APS 03]

(For the candidates admitted from 2007 onwards)

M.Sc. DEGREE EXAMINATION, DECEMBER 2010.

First Year

Applied Psychology

ADVANCED SOCIAL PSYCHOLOGY

Time: Three hours

Maximum: 100 marks

Answer any FIVE questions.

All questions carry equal marks.

 $(5 \times 20 = 1.00)$

- Describe cognitive, multicultural and evolutionary perspectives of social psychology
- 2. What is Attribution? Explain its theories.
- Explain various factors responsible for Attitude formation.
- Describe the nature and origin of prejudice.
- 5. Describe the concept of Interpersonal attraction.

- 6. Define conformity. Explain its predicators.
- Explain about Social facilitation and Social Loafing.
- 8. Explain the theories of aggression.

D 1694

Q.P. Code: [D 07 APS 04]

(For the candidates admitted from 2007 onwards)

M.Sc. DEGREE EXAMINATION, DECEMBER 2010.

First Year

Applied Psychology

ORGANISATIONAL BEHAVIOUR

Time: Three hours

Maximum: 100 marks

Answer any FIVE questions.

All questions carry equal marks.

 $(5 \times 20 = 100)$

- Describe the organizational behaviour models.
- 2. Define person perception. Suggest shortcut methods to judge others.
- Define personality. Match the personality with suitable job types.
- Write about process theories of motivation.
- 5. Give the models of team effectiveness.

- What are the types of conflicts? Suggest the techniques to manage the conflict.
- Define communication. What are the barriers for effective communication? Explain.
- 8. Write about the various approaches to manage organizational change.

D 1695

. Q.P. Code : [D 07 APS 05]

(For the candidates admitted from 2007 onwards)

M.Sc. DEGREE EXAMINATION, DECEMBER 2010.

Second Year

Applied Psychology

PSYCHOPATHOLOGY AND MENTAL HYGIENCE

Time: Three hours Maximum: 100 marks

Answer any FIVE questions.

All questions carry equal marks. $(5 \times 20 = 100 \text{ marks})$

- What are the traditions of us chopathology?
 Explain any one.
- What are the advantages and disadvantages of maladaptive behaviour?
- Describe various types of phobias and suggest suitable therapies for each of them.

- What are the major types of eating disorders?
 Explain.
- Explain the causes and treatment of sleep disorder.
- 6. Discuss the treatment for substance related disorders.
- 7. Write an overview of sexual Dysfunction.
- 8. Describe Perspectives on cognitive disorder.

D 1696

Q.P. Code : [D 07 APS 06]

(For the candidates admitted from 2007 onwards)

M.Sc. DEGREE EXAMINATION, DECEMBER 2010.

Second Year

Applied Psychology

RESEARCH METHODOLOGY

Time: Three hours Maximum: 100 marks

Answer any FIVE of the following.

All questions carry equal marks.

 $(5 \times 20 = 100)$

- What is research? Write about the different approaches to research.
- What is a hypothesis? Give an example of testing a hypothesis.
- 3. Write about the different research designs.
- What are the steps involved in sample design?
 Explain.

- 5. Explain the sampling theory.
- Write about the methods of collecting primary data.
- What are the problems in processing data?
 Explain.
- 8. Give the layout of research report.

D 1697

Q.P. Code: [D 07 APS 07]

(For the candidates admitted from 2007 onwards)

M.Sc. DEGREE EXAMINATION, DECEMBER 2010.

Second Year

Applied Psychology

HEALTH PSYCHOLOGY

Time: Three hours Maximum: 100 marks

Answer any FIVE questions.

All questions carry equal marks.

 $(5 \times 20 = 100)$

- Explain the Bio Psychological model of Health Psychology.
- 2. Describe the behaviour factors in Disease and Disorder.
- 3. Explain the role of exercise in enhancing health.
- 4. Describe the interventions to reduce smoking.
- 5. Explain the stress management techniques.

- Describe the emotional responses to chronic illness.
- What is Hypertension? Explain its treatment methods.
- Explain the psychological imapet of HIV infection and its intervention.

D 1698

Q.P. Code: [D 07 APS 08]

(For the candidates admitted from 2007 onwards)

M.Sc. DEGREE EXAMINATION, DECEMBER 2010.

Second Year

Applied - psychology

HUMAN RESOURCES MANAGEMENT

Time: Three hours

Maximum: 100 marks

Answer any FIVE questions.

All questions carry equal marks.

 $(5 \times 20 = 100)$

- Write about the scope of human resource management.
- Write about the effective harran resource planning.
- 3. Explain the methods of a lecting job analysis.
- Write about the sources and methods of recruitment.
- 5. Explain the methods of performance appraisal.

- Write about the systematic approach to training employees.
- Explain the statutory and non-statutory benefits of employees.
- Write about the International Recruitment Policy in Human Resource Management.

Jideindia.c

D 1699

Q.P. Code: [D 07 APS 09]

(For the candidates admitted from 2007 onwards)

M.Sc. DEGREE EXAMINATION, DECEMBER 2010.

Second Year

Applied Psychology

COUNSELLING PSYCHOLOGY

Time: Three hours

Maximum: 100 marks

Answer any FIVE of the following.

All questions carry equal marks.

 $(5 \times 20 = 160)$

- Define counselling. What are the activities of counsellor?
- Describe the role and functions of counsellors in school settings.
- Explain the counselling to special population.
- What are the group techniques in counselling? Explain.

- 5. Give the guidelines for human assessment.
- Write about the group assessment techniques in counselling.
- 7. Explain the theories of career development.
- 8. Suggest the technique for managing stress.